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2% = B BT | wmi | mE | b | zEm

=<CAH Y58 307 0. kg 7,884] 5,292 1,296
®= 05 HExELE| =877 hnzyy 1.5 kg 7,884 5,292 1,296
F£{CAH E=FHRT |BHE nRy7 0.5 kg 7,884| 5,292 1,296
bl Y5 kg e G =
hCE X ER S| kg it S =
) W=7 E=FRT kg —— o —
moH #Y35E ERE =5 1 kg 648 _— 540
nos fHxtER 5| ERE =y 0.1 kg 648 —_— 540
nos FE=FRGT |ERB =5 1 kg 648 —— 540
=T &+ U5% kg — = =
e fA R g | == = =
T %= H ke | sl e s
7 Ty TR B [
7 faERa| o | e = =
7 = H R ke | —| —| —
Lyb L. H+Y5% FE a3l 0.2 kg 540 378 216
WL fH>xTER 5| FE ali 0.5 kg 540 378 216
LWbhL E=HRE |(FH raall| 0.2 kg 540 378 216
HL #Y35% I b3 455 0.2 kg 691 b 648
HL e I B 04| ke | eo1] —| 64
5L B=xEE |EK B 02| ke | e91| —| 64
s By =4, 01| ke | 491 —| a3
= xR s| =i 0.3 kg 497 —_— 432
= E=FRKET | 0.2 kg 497 —_— 432
SAE By ke | —| —| —
SAE fA R o, | o e e
SAE E=HEE ke | —| —| —
A Y5 = 0.1 kg S— 594 -
AY TS| K7 . 1.1 kg 1,026 918 594
AL F=FHRGE | K& = 0.4 kg 1,026 918 594
[63=Y.) H+Y5% A 1 0.2 kg 2,160 994 486
[63=Y.) X ER 5] FH =i 0.2 kg 2,160 994 486
[63=Y.) F£=FWR5E |[FE =1 0.1 kg 2,160 994 486
ALY gAY #+Y5% a #HA 0.1 kg 756 —_— 270
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R o A BT | w | s | b | zm
Y (AR faxtEE| £ FhE 0.3 | kg 756 —| 270
MLy E=HEFE |BHF |E 0.1 kg 756 = 270
=5 yel kg e
=6 HHxtEs| kg — —-— —
=5 FE=FHWR5E kg — -— —
g #UY5E kg e -—
ot HH*TER S| kg — _— _—
el g FE=FWR5E kg — — ——
b o = HU5E kg — —— ——
T o ot e 9 HExIER 5| kg — — _—
P sl 8 o E=FRE ke — oo S
=y & U5% FH 1Lz 0.1 kg 1,404 e 594
=0 HAxEL5] FiH Wiz 0.2 kg 1,404 e 594
= E=FRE |PHE iz 0.1 kg 1,404 e 594
[TLA Y5 kg SPU| U
1€ LA HaxtER 5| ke —_ —_— i
LA E=HR5E ke ! NI
S AAY:N &= 55 .2 kg 2370 == 1,168
PY L, x| = 0.2 ke 2,376 -— 1,188
PYLvh E=FERT |F 0.1 kg 2,376 -1 1,188
£, Y5 KI5 0.1 kg —=] 2,025 —
& i ExER 5| RI& 0.1 ke —| 2,025 e
EJAV:) FE=FRE |RIEF 0.1 ke S0 pe—
a2 25 FAH = 0.1 kg 1,836 - 540
- HxEL 5| FAH =i 0.1 ke 1,836 - 540
St E=HRE |BHE =i 0.1 kg 1,836 it 540
EAEA By ke U (R
EhEA %t ERE] kg ] =
EAEA E=ERE ke el =) =
TOfhEER (BYE A ke ]
FOfhEEA  |FEXERS 2.0 | ke S [N -
oA |F=FERE 1] ke —_ - —
BEZD 25 kg —_— _— e
BEAY HAxtE5| AUF 397 HET7TT 0.6 ke 3,240 2,160 864
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2% i) 4 BT | me | mm | pm | =
AEAV E=FERST (VM7 HET7Y7 0.2 kg 3,240| 2,160 810
AEOH  |HYE ke | — —| —
AEOA  |ERERE B KT 0.4 ke 540| 432|302
AELD E=HEE |FH ANEF 0.2 kg 486 324 270
AEAML YR b | =] e =
mEMY HxTEE] v 1 b i 4 TAUH 0.5 kg 1,188 810 432
mEMU E=FRT |(HTF4 FTAUAH 0.4 kg 1,134 7156 270
ZomAE  |gyE " S [RE [
ZOWAE  |HEREwE 25| ke | —| —| —
ZOMAE  |E=EHRE L[ e | =] = ===
BEXT  |#YE ke | —| —| —
BT B> ELE] 4 dtiEE 0.3 kg , 700 1,836 540
B ET F=FERFE |OT7 dtiEE 0.4 kg ,700] 1,836 540
R $y kg | =] =] =
BF HHxELs| TAUA TR—Y 0.2 kg 7,560] 3,780 2,376
BAF E=FWR5E |FTAUAD TT—4 0.2 kg 7,560 3,780] 2, 376
BRF HYU5E kg -— — e
B+ HExtER 5| FAYA o7 0.3 kg 3,780 2,376 1,296
Bi=¥ E=FHWRFE |(FTAUAD [ 0.3 kg 3,780 2,376| 1,296
ZDhEF £ U35E kg — _— -
ZTOMEF HxiE 5] 6.7 kg 648 594 486
ZTDHhETF E=FWR5E 4.5 kg 648 594 486




